tt BDT 1 BDT 1 BDT 1 BDT 2 BDT 5 BDT 5

Low m(x)) Medium m(x}) Highm(x?) Low Am  High Am
Background 363 £ 35 46 £ 16 19+7 37+£13 6+2 4+£2
Data 286 33 17 33 3 1
bbWW (x = 0.25) BDT 1 BDT 3 BDT 4 BDT 4 BDT 6

Low m(x?) Highm(x?)
Background 42 +£11 29+7 20£5 5+£2 6+3
Data 27 23 19 5 6
bbWW (x = 0.50) BDT 1 BDT 1 BDT 1 BDT 3 BDT 4 BDT5 BDT6
Low Am Low Am High Am

Low m(x))  Highm(x?)
Background 14 +5 3+2 91 £25 7+2 08+03 07+£04 3+1
Data 16 1 85 4 1 2 5
bbWW (x = 0.75) BDT 1 BDT 2 BDT 3 BDT 5 BDT 5

Low Am  High Am

Background 13+4 23+£7 11+3 2+1 04+02
Data 9 15 6 3 0




